7= i B S mopELNO); BWP 10512-A2 g )
FEERRST (s1ZE ): 161.5X94X51Mm 11223023
FEERMEEWEGHT): 2229
\ Y,
I (1 1
I
® @
J RS (NUMBER): 10012-B2 ) 7 f4 5 (NUMBER): 10502-C1 )

TR AFR(NAME): 58 EPIVALVE
FEESS (P/NO) :BAH10025-B3

4 FH(MATERIAL):PC(TRANSPARENCE)
FHHE(QUANTITY):1 PCS

H L (WEIGHT) 11002 g

PR AR (NAME): R 5% HYPOTHECA
T EL5 (P/NO): BAH10025-B1B2
4 BHOMATERIAL): ABS(LIGHT GREY:FS20412)

I (QUANTITY) : 1 PCS
H i (WEITHG) : 121.8 g

J

FE iR (NUMBER): 10001-D1 )
FE A FR(NAME): Bli7K FBIGASKET
#FF (MATERIAL): #/lIK RUBBER
AL (QUANTITY) : 1 PCS

K ~F (SIZE): 155x87x1.8 mm

#H IE(WEIGHT): 19g

2 ik S (NUMBER) : M4 X 10 )
FEIMAFR(NAME) : 4% COPPER NUT
FUK(STANDARD) : M4 X 10

¥ BHMATERIAL): 4 COPPER

FHE (QUANTITY): 6 PCS
i (% (COLOR): f{f COPPER

77 45 (NUMBER): KM4 X 25 )
FEIMAFR(NAME): GRUB SCREW

~N

7 S (NUMBER): KN-500-B1
PR FRNAME) : B822 2% SCREW LID
=

R (STANDARD): M4 X 25 HEE4E-(P/NO) : BAH10001-A3

#1 BHMATERIAL) : STAINLESS STEEL 7 B (MATERIAL) : ABS(LIGHT GREY:F$20412)

JHHE (QUANTITY): 6 PCS JHHE(QUANTITY): 6 PCS

J

P2 RS (NUMBER) : M4 X 5 N\ (

FE A4 FR(NAME) @ 42 COPPER NUT

WA (STANDARD): M4 X5

#OEHMATERIAL): i COPPER

HH(QUANTITY): 4 PCS

g {4 (COLOR): 4% COPPER
g J L J
AR NAME R sF SIZE (um) | CARTON No. G. W () N.W (xc) FEAEHE QuanTitY|  PEAS POLYBAG
/INF SAMLL CARTON | 176x102%53 0.275 0.237 1 (pcs) 282x160
KHH BIG CARTON




